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BUILDING A
ENSURING THAT
STUDENTS LEARN CULTURE OF

COLLABORATION
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Learning Outcomes

* By the end of the lesson, study should be
able to:

» outline glycolysis to pyruvate with the
yield of ATP and reduced NAD*

Question 1

What is do you we want our
students to learn? (Focus)
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Glycolysis in
Lesson Study

14

4 CRITICAL QUESTIONS

. What do we want our students to
learn? (Focus)

. How will we know they are learning?
(Inquiry)

. How will we respond when they don’ t
learn? (Innovation)

. How will we respond when they do

learn? (Impact)

Source : www.allthingsple.info

Learning Objectives

At the end of the tutorial lesson, 80% of the
students are able to:

state the definition of glycolysis and the location
where it occurs in a eukaryotic cell

« state the 10 steps of reaction involved glycolyis

« identify correctly at least 4 types of chemical
reactions during glycolysis

- state the reactions where hexokinase and
phosphofructokinase are involved in glycolysis

- state the steps during glycolysis when energy is
invested and steps where energy is yielded
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Learning Objectives

indicate the free energy level for each

intermediate product during glycolysis

+ show where ATP is invested & yielded and where
NAD* is reduced during glycolysis

* indicate the two phases in glycolysis

+ justify the total ATP produced during glycolysis

+ able to scor

the lesson | Question 2

How do we know they are
learning?  (Inquiry)

BIG IDEA #1: Ensuring that
Students Learn

Question 3

What will we respond when
they don’t learn? (Innovation)

Innovation
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BIG IDEA #2: Building a
Culture of Collaboration

BIG IDEA #3: A focus on
Students’ Outcome

Question 3

What will we respond when
they don’t learn? (Innovation)

Documentation and sharing

When Students’
learn....

Evidence

v'Praise them
v'Lesson Study Sharing session
Convention PLC (6-8 Sep 2016)
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